ASSEMBLY INSTRUCTIONS www.jasonl.com.au :

[
Uniform Booth + Planter Box [ Need help! ] jCISOI‘I ol r—]

Size (mm): 800L x 900D x 1125H 1300 527 665

your office furniture mate

Page 10f 16



ASSEMBLY INSTRUCTIONS

Uniform Booth + Planter Box
Size (mm): 800L X 900D X 1125H

The product consists of two

modules, let's start with the lowest

Hardware:

~

COMPONENTS

@ MmO O W >

Minifix Housing x14
Pushlock x1

Rubber wWwood Dowel M8 x40mm x14
Minifix Connecting Bolt x14
Adjustable Leveller N2880 x5

Leveller N2880 Cap x5
Deco Cap x5

PANELS

@O N OO O B~ W

Back Panel x1
Side Panel Rx1
Top Rail

Side Panel Lx1
Base Panel x1
Top Panel x1
Central table x1

Door x2

www.jasonl.com.au

(]
Need help! l
Callus on jason.
1300 527 665 your office furniture mate
e ———————— |
—————
L
@ I-’A Top rail

@ :

Door Door
Top panel or cushion °
°D D
A c A c A
°C Back panel Side panel Side panel
L L 1@ oo | 5
o C
) C A C A
o O D
D
Base panel
D .
e Rail
Page 2 of 16




ASSEMBLY INSTRUCTIONS www.jasonl.com.au :

(
Uniform Booth + Planter Box Need help! jCISOn.'. T—]

Size (mm): 800L x 900D x 1125H 1300 527 665

your office furniture mate

Function of Klix Cam  Make sure the arrow is
Turn for locking pointing upwards before
75° Min - 195° Max inserting into the panel’s hole.

Top Panel

Tighten Minifix
Connecting into
Boring Hole.

Back Panel Top Rail

Side Panel R

NP

Insert Minifix Housing
into Boring Hole.

Side
Panel L

Base Panel

Rail

Assemble all panels in the following order.
Page 3 of 16



ASSEMBLY INSTRUCTIONS www.jasonl.com.au

( E
Uniform Booth + Planter Box [ Need help! ] jCISOn.'. T—]

Size (mm): 800L x 900D x 1125H 1300 527 665

your office furniture mate

Back panel Side panels

St

S

¢

Rubber Wood Dowel

;

S

G

S

Page 4 of 16



ASSEMBLY INSTRUCTIONS www.jasonl.com.au :

(
Uniform Booth + Planter Box [ Need help! ] jCISOI'I.'. T—T

Size (mm): 800L x 900D x 1125H 1300 527 665

your office furniture mate

Door Rail Base Panel

o . [o]
Minifix Steel Bolt
[o] [o]
(el e]
Top Rail
Rubber Wood Dowel
QD— i o} o o a: —QD

Page 5 of 16



ASSEMBLY INSTRUCTIONS www.jasonl.com.au :

[
Uniform Booth + Planter Box Need help! jCISOI'I.'. T—T

Size (mm): 800L x 900D x 1125H 1300 527 665 Your office furniture mate

. (] [e) '
Adjustable Leveller

N2880

Leveller N2880 Cap

Chipboard
Screw 4 x 32mm

DECO-CAP-18X15
5-pcs

STEP 01

Lay back panel (1) on ground. ‘ (
Add one side panel (4) and
base panel (5)

STEP 02

Add top rail (3) &
centre panel (7)

STEP O3

Add side panel (4). Attach levellers with
Chipboard Screw 4x16 at bottom of carcass.

Tighten leveller into boring hole and screw the cap. Page 6 of 16
Use DECO-CAP-18X15 to seal holes on base panel.



ASSEMBLY INSTRUCTIONS

Uniform Booth + Planter Box
Size (mm): 800L X 900D X 1125H

N

STEP 04

Assembly MFC sliding doors

www.jasonl.com.au

e | jasondd B

1300 527 665

your office furniture mate

PUSH

STEP 05

Assemble Top Panel at top of carcass
and complete assembly

Page 7 of 16




ASSEMBLY INSTRUCTIONS

Uniform Booth + Planter Box
Size (mm): 800L x 900D x 1125H

Let's start now with
the second module

www.jasonl.com.au

Need help!
Callus on
1300 527 665

jason.l

your office furniture mate

Page 8 of 16



ASSEMBLY INSTRUCTIONS www.jasonl.com.au :

Uniform Booth + Planter Box

Size (mm): 800L x 900D x 1125H 1300 527 665 your office furniture mate

Components

e | Jason.l
J

]

- Back Panel -
Qty: 1 pc

o0

- Base Panel -
Qty: 1 pc

- Top Rail -
Qty: 1 pc

-Shelf-
Qty: 1 pc

Hardware:
L I3 I 8
Minifix Cam Minifix Steel Bolt ~ Rubber Wood Dowel
14 pcs 14 pcs 19 pcs
- Side Panel - - - - ] 3 L
Qty: 2 pes Door Panel Ra_ll Guide Push Lock Stripe Handle
. 4 sets (already installed) 1 sets 2 sets
o
- Door Rail-
Qty: 1 pc
Adjustable Adjustable Leveller N2880 Chipboard
Leveller N2880  Leveller N2881 Plastic Cap ~ Screw 4 x 16mm
T e ot n o 5 pCS 5 pCS 5 pCS 20 pCS
- Door Panel -
Qty : 2 pcs

Page 9 of 16



ASSEMBLY INSTRUCTIONS www.jasonl.com.au :

[ )
Uniform Booth + Planter Box [ Need helpl ] jCISOn.l rﬁ

Size (mm): 800L x 00D x 1125H 1300 527 665 your office furniture mate

Exploded
view
Page 10 of 16




ASSEMBLY INSTRUCTIONS www.jasonl.com.au

[ E
Uniform Booth + Planter Box [ Need helpl ] jCISOI‘\.l ﬁ

Size (mm): 800L x 900D x 1125H 1300 527 665

your office furniture mate

Back panel Side panels

St

14

S

¢

Rubber Wood Dowel

)
0
)

Page 110f 16



ASSEMBLY INSTRUCTIONS www.jasonl.com.au :

[
Uniform Booth + Planter Box Need helpl jCISOI‘\.l ﬁ

Door Rail Base Panel

o . o
Minifix Steel Bolt
[o] o
o O
Top Rail
Rubber Wood Dowel
%— b o) oo fo e —@b

Page 12 of 16



ASSEMBLY INSTRUCTIONS www.jasonl.com.au :

[
Uniform Booth + Planter Box Need helpl jCISOn.l ﬁ

o
o

Adjustable Leveller

-~ o

Chipboard
Screw 4 x 32mm

Leveller N2880 Cap

DECO-CAP-18X15
5-pcs

STEP 01

Lay back panel () on ground. ‘ (
Add one side panel (2) and
base panel (3)

STEP B2

Add top rail (4) & centre panel (5)

STEP O3

Add side panel (6) & Shelf (7) at the same time.
Attach levellers with Chipboard Screw 4x16 at
bottom of carcass

Page 13 of 16



ASSEMBLY INSTRUCTIONS

Uniform Booth + Planter Box
Size (mm): 800L x 900D x 1125H

Planter Box assembly

= o ©

o

X} 1 2 o on Lo Lo
BASE PANEL BACK PANEL
®Qty:1pc CDQ'(y:lpc
SIDE PANEL L SIDE PANEL R
Qty:1pc ®Qty:1pc
RO
@ Bty :N1TchANEL
TOP PANEL
Qty:1pc
-!il \ .
Collar Stud Minifix Steel DECO-CAP
262.24.710 Bolt 10259 16x5
4 pcs 16 pcs 16 pcs

www.jasonl.com.au

Need help!

Callus on

1300 527 665

Step 1.

jason.l

your office furniture mate

Assemble component follow sequence number

Note:

The bottom panel should be
facing down. Screws holes must
be seen from the outside only.

Bottom view

Insert Collar Stud
into Boring Hole

Note For Minifix Cam

Important: Function of Klix cam

‘ @ 1/4 RIGHT TURN FOR

LOCKING Make Sure The Arrow Is Pointing
Upwards Before Inserting Into The Panel's Hole

Page 14 of 16



ASSEMBLY INSTRUCTIONS www.jasonl.com.au

Size (mm): 800L x 900D x 1125H 1300 527 665

[ E
Uniform Booth + Planter Box [ Need helpl ] jCISOI‘\.l rﬁ

your office furniture mate

Tighten Minifix
Connecting into
Boring Hole.

STEP 04 TEP 05

Assembly MFC sliding doors Assemble planter box bottom panel on
top of carcass and complete assembly

\

Page 15 of 16




ASSEMBLY INSTRUCTIONS www.jasonl.com.au

( E
Uniform Booth + Planter Box Need help! jCISOI'I.'. r—]

Size (mm): 800L x 900D x 1125H 1300 527 665

your office furniture mate

Itis time to combine !
both modules

Screw using 4x32mm chipboard screws through the back of the small Complete
sliding door credenza and attach to the back of the other module. assembly

Page 16 of 16



